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5
A camel’s long eyelashes
keep dust out of its eyes.

Roman Numerals for Ones

Roman numerals are a different way of writing numbers.

Put Roman numerals together to write numbers for the
first nine digits.

Count by 25’s to 500.

Count backward by 1’s from 67 to 38.

Practice your H and ×1 flash cards for 5 minutes.

Do Speed Drill 5 on page 80.

Record your score in the graph on page 77.

Ask your teacher for Quiz 1.
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Lesson 5

Roman numerals for the first nine digits start with I or V.

1 = I 6 = VI (5 + 1 )

2 = II (1 + 1 ) 7 = VII (5 + 1+1 )

3 = III (1 + 1+1 ) 8 = VIII (5 + 1+1+1 )

4 = IV (1 less than 5 or 5 – 1 ) 9 = IX (1 less than 10 or 10 – 1 )

5 = V

The Roman numeral for 4 has the I before the V.
The Roman numeral 9 has I before X. An I before a V
or X means 1 less.

Write an addition or subtraction sentence for each Roman numeral.
The first two are done for you.

1. VII =

2. IV =

3. IX =

4. VIII =

5. III =

6. VI =

7. II = 11++11==22
55++11==66

11++11++11==33
55++11++11++11==88
1100 –11== 99
5–1=4

5+1+1=7
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6
The world’s largest bird is
the ostrich.

Borrow From Hundreds

Subtract the ones column.

8 – 3 = 5

In the tens column, 3 is bigger than 2. 
2 must borrow 1 hundred from 6 hundreds.

6 – 1 = 5

Cross out the 6 and write 5. 
Write the 1 beside the 2 to make 12 tens.

Subtract the tens column.           12 – 3 = 9

6 2 8
– 2 3 3

5

6 2 8
– 2 3 3

11

9 5

55

STEP 1

STEP 2

Count forward and backward 
by 10’s from 6 to 126.

Read these numbers to your teacher:

3,079     6,032     1,013     9,009     8,031     5,034

Practice your G and ×0 flash cards for 5 minutes.

Do Speed Drill 6 on page 80.

Record your score on page 77.
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Lesson 6

2. At Lakeview Zoo, a pair of ostriches took turns
setting on a nest of 10 eggs. All 10 eggs
hatched, but later 2 of the little ostriches died.
How many ostriches were in the pen then?

Solution Add the pair of ostriches
with the baby ostriches.

22
++ 1100
1122

Subtract the ostriches
that died.

1122
–– 22
1100

Subtract the hundreds column.

5 – 2 = 3

Hint: If the bottom is bigger — borrow.

6 2 8
– 2 3 3

11

3 9 5

55
STEP 3

Solve the problems. Borrow from the hundreds. 

Ask your teacher to watch you do the first two.

1. 4 1 8
– 1 3 3
228855

33 11
9 3 5

– 3 9 4
554411

88 11
3 2 5

– 1 6 5
116600

22 11
 8 4 9

– 6 9 2
115577

77 11
7 0 5

– 3 4 5
336600

66 11

ostriches1100
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3.

Write the number that is 
halfway between the tens.

4. 10 20

5. 60 70

6. 70 807755
6655
1155

Write the numbers.

10. two thousand fifty-four  

11. five thousand thirty-eight  55,003388
22,005544

Mark the right angle.

13.

Write >, < , or = .

7. 13 4 + 9

8. 15 8 + 5

9. 17 – 9 8==
>>
=

3 7
5 2
+  7
9966

11 11

4 6
+ 3 7
8833

11

11

3 8 3
+ 4 6 0
884433

$2.3 5
+  .1 5

$$22..5500

$5.7 8
–  3.5 6
$$22..2222

$.4 4
+ .2 5

$$..6699

12. = = 117799

Count the tally marks.
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Lesson 6

Multiply.  

4

12 1
2

3

567
8
9
10

1115. Miss Mary and her students found a shady spot
to rest at 10:45. They spent 10 minutes resting.
What time was it when they went on to see more
animals? 1100::5555

+9
16.

14.

17. What is the Celsius temperature?

18. What is the Fahrenheit temperature?

19. At what temperature does water freeze?

00°°C 3322°°F

6666°°F

1199°°C

6
+ 9
1155

8
+ 9
1177

9
+ 3
1122

4
+ 9
1133

9
+ 2
1111

7
+ 9
1166

9
+ 5
1144

9
+ 9
1188

°F °C

40

60

80

0

10

2070

50

4
× 1
44

1
× 1
11

2
× 0
00

0
× 3
00

7 1
× 1
7711

7 1
× 0
00

9
× 1
99

6
× 0
00

0
× 7
00

Answer the questions. Don’t forget to use the little circle for degrees.
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Write true or false .

20. Elephants can fly.  

21. There are 60 minutes in an hour.   

Match to show the bales a zoo worker fed the different animals.

22. Dick divided a bale of
alfalfa hay into fourths to
feed the bison. He divided 
another bale into eighths
to feed the camel. He
divided a third bale into 
sixths to feed the antelope. bison •               •

camel •               •

antelope •               •

How many is 22 of six parrots?

23. parrots22

Write the amounts of money. Use the dollar sign.

24. ten dollars and four cents  

25. eighty-four cents  

26. thirty-eight dollars  $$3388..0000
$$..8844

$$1100..0044

ffaallssee
ttrruuee
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7
A tiger is the
largest member
of the cat family.

Multiply by 10

One way to find the product when multiplying by 10 is
to count by 10’s.

Here is the 10’s multiplication table. When multiplying
by 10, the ones place of the product is always zero.

10 × 0 = 0 10 × 4 = 40 10 × 8 = 80

10 × 1 = 10 10 × 5 = 50 10 × 9 = 90

10 × 2 = 20 10 × 6 = 60 10 × 10 = 100

10 × 3 = 30 10 × 7 = 70

Count by 10’s from 153 to 243.

Count by 1’s from 990 to 1,020.

Practice your F and ×10 flash cards for 5 minutes.

Do Speed Drill 7 on page 81.

Record your score on page 77.
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Lesson 7

Skip count by 10’s to find the products.

Change the order of the factors to write the twin 
multiplication fact. 

1. 10 × 1 =

2. 10 × 2 =

3. 10 × 3 =

4. 10 × 4 =

5. 10 × 5 =

6. 10 × 6 =

7. 10 × 7 =

8. 10 × 8 =

9. 10 × 9 =

10. 10 × 10 =

22 × 1100 == 2200

1100 × 1100 == 110000110000
99 × 1100 == 99009900
88 × 1100 == 88008800
77 × 1100 == 7700
66 × 1100 == 6600
55 × 1100 == 5500
44 × 1100 == 4400
33 × 1100 == 3300

11 × 1100 == 1100

7700
6600
5500
4400
3300

1100
2200
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11. James spent $.25 for peanuts to feed the monkeys. He paid
$.50 for a pencil with tigers on it. He had started with $3.97.
How much money does he have now?

$33..2222
Add the money he spent 
for the peanuts and pencil.

$..2255
++..5500
$..7755

Subtract the amount he spent from
the amount he had at the beginning
of the day.

$33..9977
– ..7755
$33..2222

12.
11 3

5
+  6
1144

2
4
5

+ 2
1133

5 6
+ 3 4
9900

11

1 6 3
+ 4 9 3
665566

11

7 5
+ 2 8

110033

5 8 7
– 3 4 0
224477

Solution

Multiply.

2
× 1
22

1 0
× 2
2200

2
× 6
1122

2
× 3
66

7
× 2
1144

9
× 2
1188

2
× 5
1100

8
× 2
1166

4
× 2
88

13.
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14.

Write the number that is halfway between the tens.

15. 30 40            60 70            40 50445566553355

Mark the right angle with a little square.

Answer the questions.

16.

4

12 1
2

3

567
8
9
10

11

17. At 12:15 Miss Mary and her students found a
picnic table to eat their lunches. By 12:35 they
were ready to visit the tiger cage. How long did
they spend eating lunch?

minutes2200

18. What is your telephone number? 

19. How many digits are in your telephone number?  digits

20. Which of the ten digits are not used in your telephone number?

77
Answers will vary.

Answers will vary.

9 2 6
– 8 8 5
4411

88 11
8 6 7

– 5 3 6
333311

3 8 0
– 3 7 2

88

77 11
6 4 8

– 1 9 6
445522

55 11
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Fill in the blanks.

21. 1 year = months

22. 1 day = hours

23. 1 hour = minutes

24. 1 week = days

6600
77

2244
1122

Copy and solve.

Look at the calendar to answer the questions.

28. What month does this calendar
show?

FFeebbrruuaarryy    
29. How many days are in February? 

30. Which days come on Saturday? 
Write their numbers.

22441177110033

2288

3
+  5

88

8
–  4

44

1 2
–  6

66

4
+  4

88
3

+  4
77

1 0
–  5

55

6
+  6
1122

5
+  5
1100

February
Sun

1 2

10987654

17161514131211

24232221201918

28272625

Mon Tue Wed Thu Fri

3

Sat

25.

26.

27.
8866

––4433
4433

86 – 43

332244
++5500
337744

8866
++22
8888

86 + 2324 + 50

998899
––3355
995544

989 – 35


